//-Process

1

O0o0obodoono pPMDAOOOOOOUOOOOOOOOO
oot otoddoooddnood

gttt
Juoogdoooddoo;

2000000000000 xO00o0doooooododn

g Uudoodouooooodouoooodouoaxgooododnn
Jdobobototdoodduobootdddboobodgddoobdd
Jggoobobobobooobobboouodddd

Juboogtdbobotdtdbbb Ui

bbbt boboboboooogddt
Jubgtdbootdbobobotdbootdboogdboottdbotdbotdd
U 0ooni

2

0000 (X, Au00000 f(z,6), 6 € © c RIOODODOODO
{Xi}iz1,.,n 00ODOD

HOODDO i=1,.n0000 6§ =6,0
HODODOOOO 6,0, 0000 ue€(0,) 000000
i<wumO00000=60i>umnD00000 0=06,0

Joootdoooddooodd
e U DOOUOULDODOOULDLODUOOUOLOOON
e /-process U UOUOUOOORao OO DOODOONO[O
e |[J MLEUUOUOODUOOWaldOUOOUDOOOO
oy

2.1 U Z-process 0 0OOOMN
[(x,0) =log f(x,0) DO OO

1 . -
Un,k — n Z Z(Xz'a Hn)

i;:—zy

X, 0oooooooooooooad

XZ) (972/)

0000 6,0 Xy, ...

S, = n max Ul T
1<h<p Mk n,k

Joooooodoon Hyoood

Sy, = sup Z | B®P(u)

uEOl

000 Bl .. B Oonooooooooon
0000 H, 00000000

Iy (0) == Eg I(X,0)(X,0)"

Joooboo

(1 —ux)Egl(X,0)=0 00 0=0,

28p > n(v) I v — op(1)) — Op(1)

AP HEIFIAHBERS RN 1B - AT LIS
=t saetmemn

20120 el 15 L OULOOUboboggogd

Jooodttbd
L = g (62) + (1 = u) Iy, (6.
Jododbdbon
Vs = Ux(1 — u*)(EQOZ(X, 0y) — Egll(X, 04))

Jduboogtddbobbotdboboogtdubbogddbootgtd

22 UUUOODODOOOOOO
Joduoon

t t
X; = Xo+ / S(Xs, 0)ds + / o (X)W
0 0

Juood

1 [tS(Xs,0)
= — —~(dXs — S(Xs,0)d
U= | 25X = S(Xe0ds)

> /T S(Xs,07)5(Xs, 01) "
r=r o(Xs)? ’

S =T sup UTt] 1UT7t.
0<t<T

Jooobbbobobobobobdddddggooooobobod

3

000000000 {X;}=1..,00000

HO ODOOi=1,.,,000000000000 FOOOO
HOOD ue€(0,)000000i<unD FyO0O0O006> usn O
F,O0000000000 zeRO000O Fyz) # F(z).

{X;}ie1, 0000000 {R}i=1. , 0000000000

D, =+/n max —Zl{q<z Rq<]}——.

[<i,9<n [N

Hy,ODODOOO

Dn%d Sup |BO(S>t)‘7
0<s,t<1

000 B°OUOODODOooOoooooooooooooono
EB°(s1,11)B%(s2,12) = (51 A 59 — s182)(t1 Aty — tqt9)

100000 standard Brownian pillow 00 000000 OO0
H;00000

l%zw%{mﬂ—uQ%MHMW—ﬂwﬂ—dD}—OND.

JodooooodotdodoHd 0o odooooooogod
Jubootdontddbbodbooogd

The Institute of Statistical Mathematics




